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2 GTOOL OOOO

2.1 GTOOLOODOOOOODDOO

GTooLOUODOO0DO0ObO0oO0DOO0DObDO0bOobooboOobDUdDeclimates,6,700000O
gboboboobobobobooboobuooboobobbobooboobon

e JUUOUOOLODODODO

O0000PATHOOODODOODODOOOODODDODOOODOOOODOODODOOO GTOOL
000000000000000000000'000000000000 - climate?
00 /usr/local /gtool /binO climate5,6 0 O /usr/local /gt3-dcl5/bin/Solaris O O 020
O00.cshreO0OOD0ODOODODOODOOODOODO

if ("$HOST" == "climate7") then
set path = ( $path /usr/local/dcl-5.0.2/bin \
/usr/local/gtool/bin )
else
set path = ( $path /usr/local/dcl-5.0.2/bin \
/usr/local/gt3-dcl5/bin/Solaris )
endif

000000000000000000000 PATHOOOOOOODOO PATHOOOODODOO
goo

2 Jusr/local O Jopt/local 0 0000 O0000000000000DODDDOOO Jopt/local/gtool/bin O
gooobbobogoogo



e 0 O0ODO GTOOLDIR

GTOOLDIROO GTOOLOOODDODODOOOOODDOOODODODOOOODO cli-
mate7 O O /usr/local/gtool, climate5,6 0 O /usr/local/gt3-dcl5 0 O O

Oo0ogd

if ("$HOST" == "climate7") then

setenv GTOOLDIR /usr/local/gtool
else

setenv GTOOLDIR /usr/local/gt3-dclb5
endif

e 0 O0ODO GTAXDIR

00000000000000000000%00000003$GTOOLDIR/lib/gt3
gbouodgbbboobudgbgboobboobuooboobbooboobobon
gbbogobobbuogobboobobobuooobbooobbbooobboo
gooo

e IO IO GTTMPDIR

gtool OO ODOODOODOOOODOOOOOOODODOOgtooloutD O ODOOOMO
OO000O000oOoOoGETTMPDIROOOOOOOOOOOODOOO gtool.outd OO
gbooobooooboon
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$ gt [D0D0O000)] [Do000]

SGTooL0000O00D00000O0O0O00D000O0000DN0DNO00N00ON0oN0NonOonooooonn
GToOOLOODOOOOoODOOOoODOO0OODDOOO0OOO00ODDOODoDDOO0o0OoooDoOoOooOooooOooDoan
ooooooooog

‘000000000000000000000000000000ASCIIO00000000000ag
ooood

SFortran 0 open O O access=’sequential’, form="unformatted’ D000 0000000000000
odoooDooooooooog



(COOobooOobooOobOooboobOooboobUooboobo
oobooboboooooooooobooboooo)

Oo0O00ooOoOooo
ooooog 0O z=1000000O0O0OODOO=0000
OO000D000 DO title:RainO0ODOODOOODOODOO:000O
0000000 : print=t clabel=f JOO0O0O0D0O0O00O0=t/£0000
(print=t O -print, clabel=f O#clabel O OO OOO)

3 Ouogobbooo

3.1 UOooog
3.1.1 gtcont

gtcont O DD O00OO0O0O0O0O0O0OO0OOODOOOO0xyz000000000000
obooboobobon

$ gtcont <file> x=15 (00000 150000000000000)

$ gtcont <file> x=15 y=1,10 (yO O OO 10100000000000)
$ gtcont <file> x=0 (000 UODDO0O0ODDO0OOUOOO-000000)
$ gtcont <file> x=0 -exch (-exchOJUOODODOODOOONO)

gbooooodgn

$ gtcont <file> str=2 end=8 (2U8UI O UOODLOODODOO)
$ gtcont <file> str=2 end=8 step=2 QU UI0OO0OOODO)

gbobobooogon

$ gtcont <file> cont=6 (DO ODOODOOSBO0O)
$ gtcont <file> cont=5,10 (100000 DOODOO)
$ gtcont <file> cont=5,10 range=0,100 (0-1000 000 00O)

obooboon

$ gtcont <file> tone=0,100 pat=14 (0-1to000 OO ODOOOO)
$ gtcont <file> tone=-100,100,200 pat=14,24 QUUOOOOOOOOOO)
$ gtcont <file> color=20 (20000 00O 0O0)

ggbbobuoooobbooogobbooodobooe
goo

$ gtcont <file> color=20 map=1 (DO ODOODODOOO)

$ gtcont <file> title:’Averaged temperature’ (JODODOODOOO)
$ gtcont <file> dset:’AGCM5.6° (OO U Dataset O ODO)

$ gtcont <file> -print ps:out.ps (out.psO00)



3.1.2 gtvect
gtvect OO OOOD0O0O0OO0OOO0O0O0OO0O0O0O00OOO0O0OO

$ gtvect <filel> <file2> (1000 xO0O2000 yOOO)

$ gtvect <filel> <file2> intv=3,3 U UOUOOOODOO)

$ gtvect <filel> <file2> fact=0.5 (O ODOOODOO 0.500)

$ gtvect <filel> <file2> range=-10,10 (DU 0O 10000000000O)

ggoboboogobbobooooboboboood
$ gtvecon u v Z intv=3,3 x=30,100 y=1,37 map=1
(o000 3e-1000000Db0O0O01-370DOOOOOOODGO)

3.2 UOOO0OO0O0OO
3.2.1 gtsel, gtavr

gtsel OO ODOODOOOOOODOOOOUODOODOOOgtavrDODOOOOODOOOODO
gooon

$ gtsel <filel> x=0 ; gtcont (U OO O)

$ gtsel <filel> x=30,100 y=1,37 out:<file2>
(oDooooooooooog)

$ gtsel <filel> z=5,10 str=1 end=32 step=4 ; gtsel z=0 ; gtcont
oo

$ gtavr <filel> out:<file2> str=2 end=10 step=2 (2-1000 200000)
$ gtavr <filel> out:<file2> ostep=30 B0 ODDOODOOONO)

ggbobsobbugoo3eobbbogoobbboobboooobbogn
gbobobodgd

3.2.2 0O000O0O0DOOO0

gtadd(O ), gtsub(0O ), gtmlt(O ), gtdiv(O ), gtlog(O O ), gtsqrt(0 00 ) 00000000
godbbbboooooooobobobbobbboooooooouoboobooobo

$ gtsub <filel> <file2> out:<file3> factl=0.1 ofsl=1 ofs2=3
( (0.1x<filel> + 1 ) - (1*<file2> + 3) )

o000 3o000030000b0b00oboonOe

$ gtlog <filel> out:<file2> (logAU O O)

O gtedy(OOOODOOODOODO)ODOODODODODOOODODOODODOD
ooooo

$ gtedy -x Z out:z-edy (OO OODOODOODOODONO)
$ gtmlt z-edy z-edy ; gtavr str=1 end=30 ; gtsqrt ; gtcont map=1(0JO07?)



3.23 OUOOOO0OODDOOOOOOO

gboudboobibdgtmav0 000000000 O00O0O0O0O gtpwspct, gtstspet U
gbboboooobbbooobboboooobbbuoonbo

$ gtmavr <filel> out:<file2> -x peri=10 (xUO0OO0ODO 1000 0O0ODO)
$ gtpwspct <filel> out:<file2> -x (xOODOOOOODODOONO)

$ gtstspct <filel> out:<file2> (U UODOODOODOOODO)
(D10000000s3sgboboboooooog)

3.24 0OU00O0OO0OODOOOO

O0000000000000000 (gthdiv), 0000 (gthvor) 0000000 ODOOO
000000 (gstrm) 0000000000000 O0O00O0O0O0OOO0OOOOOO0OC

$ gthdiv u v out:<file> (OODOOODOO)

$ gthvor u v out:<file> (QOODOODODO)

$ gtstrm v ps:slp str=1 end=1 ; gtcont
(DO0OO000O0Ob0O0ObDOfileit00dD0OODfile2d00O0OOOOOO)

3.25 0OUUodbobObhooodobboooobon

$ gttheta <filel> ps:<file2> out:<file3d> (DU UDOOODOODO)

$ gttheta <filel> ps:<file2> out:<file3> -inv (DO ODOOODOODO)

$ gtthetae t:<filel> q:<file2> ps:<file3> out:<file4> (DO DO OO ODO)
tO0O000qUO00psOOOOOoOonoonoonoonoO)

$ gttv t:<filel> q:<file2> out:<file3> (UUIDODDOODOOODOOO)

$ gtgsat t:<filel> ps:<file2> out:<file3> (U OO O)

$ gtrelh q:<filel> t:<file2> ps:<file3> out:<file4> (U OO U)

3.2.6 U000
z0000p0000D0O0O (gtz2p)Doc0000 pOO (gts2p) 0000000 OOO

$ gtz2p <filel> p:<file2> out:<file3> -apnd
@SUOooboooobopbboboooobOobOobOO)
$ gts2p <filel> ps:<file2> out:<file3> #misout
(bCOobooooooooobooboboooooo)

‘00000000000000D00D000D00D000D000D0 GCMOOODOOODOODOODO
aer=3397E4+06 D00 DO0O0OO0OO0ODOOOOOODOOOOOO
"Tps000000000O00O0O0OOODDDODOOODODODOOOOOOONOOOOOn
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3.3 UOooooouoddd
3.3.1 gtwdir

gtwdirJ GTOOL3O0 000000000000 DDOOODO (GrADSOO)0D0OO0OOO
oooooos

$ gtwdir <filel> out:<file2> -r4 (U0 4000000O)
$ gtwdir <filel> out:<file2> -i2 (OO 2000000O)

000000000 .eshrcJO0D0OO0OOO0O
alias gtw ’gtwdir \!* out:\!$.grads -r4’
(gtw <filed>0<filed>.gradsO0000OOO)

3.3.2 gtrdir

gtrdir GrADSOODOODODOO GTOOL3ODOOO0ODOOOO0O0OooooDoooono
O000000o0O0O0o0O GrADSOOODODOO GTOOLDODOODOOoOoooDooooo
UO00000xyzOU0UOOOODODOOODDOOOOOobOooooboobbobbboooboad
00 0$GTOOLDIR/lib/gt30 0000000000000 0O0O0O0O0O0O0O0O0O0ODOO
GTAXLOC.____ oboooboooo

$ gtrdir <filel> out:<file2> -r4 x:GLON144 y:GLAT73 z:NCEPL17
(NCEP/NCARO OO DOODODOO)

$ gtrdir <filel> out:<file2> -r4 x:GLON144 y:GLAT73 z:SFC1
(Cooboooooo)

$ gtrdir <filel> out:<file2> -r4 x:144 y:73 z:17
(boboooboooobooboboboooboooboon)

gboboobooboobobooooooboooon

$ gtset T out:T-out title:’Temperature’ dset:’NCEP/NCAR’ item:’T’
unit:’K’ utim:’DAY’ styp=2

(styp=20 00000 logOOOOO)

4 GTOOLOUOOOOOOO

WebOOOOOOOOOOOOODDOODODODOD GTOOLODOODOODOGTOOL
oboobodb HTMLOODOOOD

http://www.riam.kyushu-u.ac.jp/taikai/labs/Gtool/ OO0 0 OO0 OO OO0

gbooooogn

GTOOLOOODODODOO$GTOOLDIR/doc/Guidetex DO OO0 D ODO0O0OOOOOO
000000000000 0D00D0OD pdf0OD00ODOODO

5000000000 endian00000000000DODbig/little0000000-r4r,-i4r000000
ugboaogaoaon



/net /climate? /export /home/yousuke/gtool /doc/Guide.pdf 0 DO OO0 000000
guooooooooobbbbd

000000 http://157.82.240.165/~yousuke/keisannki/gtool.pdf 0 0 0000 0 OO
ad

O GrooLooooooboboooooboouUNIXbDooooooooooooDoo
http://157.82.240.165/~yousuke/keisannki/init. html 00 0000000000000
gooobod

Appendix

OO000000000000000 climate7d GTOOLOOOUOOODO

cimate70 /opt 00 0000000000000 0OO0OO0OOOO0OOOOOOOOOO
00000 climate70 /opt 0000000000000 OOclimater00000O00O0O
00000 CPUD OSOOOOOOOOOOCPUDO Sun Ultra SPARCO O (Sun BladeO
Sun Enterprise 0000 )00SO Solaris8,9(0 00000000 O0)0000O0O00OO0O
00000000 climate70 /opt0 000000 /net/climate7/opt 000000000
O0000o0o0OOoOoooooo®d

$ setenv GTOOLDIR /net/climate7/opt/local/gtool

$ set path = ( $GTOOLDIR/bin $path)

($ setenv PATH $GTOOLDIR/bin:"$PATH" OO DO 0O)

$ setenv GTAXDIR $GTOOLDIR/1lib/gt3

(DOGTAXDIRO U D OOO0OOO0OO0OODODUOOODOOOOOOOOOOOOooO
0000000000000 000000o0O00)

GTOOLOOODOOOO

OO0 GrooLooboobooooooboboboobooboobooboooDobDobo
OO0 GrooLooooooooboob0oboooooooboooooobooboo
O00000000D0O0OD0ODOD0O0ODODOO0OO0 (DOOONETCDF)DO GTOOL3OOOOO
gbbobuoooobbboooobbbuooobobboood

e DCLOODOODOODO

GgrooLoooogoooboooooobobcLuoboboooobooooooobooo
climate5,6, 700000000000 0OO0ODOO0O

DCL5.20 0000

$DCLDIR/sys/Mkinclude. 00 OO0 O$DCLDIRO O OO OO
$ make
$ make install

‘UNIXODODODODODODDDDODDOOOO0O ADDDOODDDODODOOOOOOOBOOOOOOOODO
OO000000o0oooooO BOODOOOO AOUOUOODDDODOOOOOODDOOOOOOSolaris0Odd
00000000000000000000000O0/net/0000/—000000000O
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DCL5.30 00
$ ./configure --prefix=000000O0
$ make
$ make install

e OO OOODO

GTOOLDODODOOODOODOODOODO GTOOLDIRODODOODO OO GTOOLDIR O
OOoooOoooooGrooLoooooooobo bcLoboooooooooo
0000000 LDLIBRARY PATHOOOOOOOOO®Solaris0 000000
LD LIBRARY PATHOOOOODOOODOOOOOOODOOODOOODOOOODOO
gboobooogooon

$ setenv DCLDIR /usr/local/gtool
$ setenv LD_LIBRARY_PATH $DCLDIR/1lib:"$LD_LIBRARY_PATH"

e Mkinclude O O O

$GTOOLDIR/Mkinclude 0 0000000 OO0O0OOOOOO (SYSTEM=0OD0O
0)0000000000000000000000000Ocimate00000
SYSTEN=Solaris 0 000 00O LinuxO DEC-OSF(Tru640 0 0)0 0000000
00000000000 3$GTOOLDIR/libsre/sysmake/Makedef. $SYSTEM O O O
O00000O000DDDOMakedef.Solaris 0 SYSXLIBNAMEO OOODOOOOO
0000 climate 000000000000 /usr/openwin/lib00000000O00O0
OO00000000bOobOo rCcOoCCOLDOOOODOOOODOODODDOOODOOO
00000000 SYSFFLAGSO SYSCFLAGSOOOOOOOOO

e JUIUUUOUOODODODODO

$ make dirs (OO OODOOO directoryd O 0)
$ make
$ make install ($GTOOLDIRO OO OOOOOOOOO)

YOooOoOoO00O0O000000000000000000000000000000D00000000O0
OO0OCOOO0OOO0 LDLIBRARY PATHOOOOOOOOOOOOOOOOOOOOOOO0OO0O0O0O0O0O
gbooboooooooooooboooooooooooooooDooobDooboDooDobobDOoboobooo
goood



GTOOL3U O GrADSOOODDOODOOODOOOO

parameter (imax=64, jmax=32, kmax=31)
character HEAD(64)*16

character fnamel*100, fname2*x100
real*4 GD(imax, jmax,kmax)

undef = -999.0

o
read(5,*) rmin, rmax, fnamel, fname2
open(10, file=fnamel, form=’unformatted’, status=’o0ld’,
&access=’sequential’)
open(51, file=fname2, form=’unformatted’, status=’unknown’,
&access=’direct’, recl=imax*jmaxkxkmax*4)
C
iflag = 1
1 read(10, end=2) HEAD
read (10, err=999) GD
do k = 1, kmax
do j =1, jmax
do i =1, imax
if( (GD(4i,j,k).1lt.rmin).or.(GD(4,j,k).gt.rmax) ) then
GD(i,j,k) = undef
endif
enddo
enddo
enddo
write(b1, rec=iflag) GD
iflag = iflag + 1
goto 1
2 continue
c
stop
999 write(6,*) ’Error: DO NOT READ DATA ...°
end



